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Question Number : 1 Question Id : 212807571 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

In case of phosphorus, PCl and PCl; are possible while nitrogen only forms NCL, and not NCl,

This due to;
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21280718
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null

(1) Nitrogen isa gas while phosphorus is a solid at room temperature,

2)  Nitrogen does not have vacant d-orbitals in its atom while phosphorus has vacant d-orbitals

2
(3)  The electronegativity of nitrogen is higher than that of phosphorus.
)

4)  The atom of nitrogen is smaller in size than phosphorus.
Options:

2128072281. 1

2128072282. 2

2128072283. 3

2128072284. 4

Question Number : 1 Question Id : 212807571 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

TR % %3 8 PCl, 4t PCl, HY § e Tzl el NCL, 8 a9 & NCL 1 | T 2ot 3

Options :

2128072281. 1
2128072282. 2
2128072283. 3

2128072284. 4

Question Number : 2 Question Id : 212807572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
The standard reduction potential for Sn** /Sn** s +0.15 V and for C** /Cris ~074 V. These

two half-cells, coupled in their standard states, are connected to make a cell. The galvanic cell can
be correctly represented by ;

(1) Sn**(ag) Sn'*ag) |Cr(5)Cr**ag)
2) Sn**(ag) " (aq) Cr* eq) (s
3) - CrfgCr'*ag) f5n' aq| 5 ag)
) Crls)Cr'*ag)Sn** fagSn** aq
Options:

2128072285. 1

2128072286. 2

2128072287. 3

2128072288. 4



Question Number : 2 Question Id : 212807572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Snt* /Sn2* 1 W ST 9 +0.15 VARG /e A -074V E13 S g A W
Sy R g o ¢ | e 9 8 e o e

(1) S (ag)lSn** (ag)[Crf) ' aq)

(2) Sn**(aq)5”*(ag) [Cr**aq) Cr(s)

() Cef)Cr'* fag)Sn** aq)fS*aq)

(&) Crfs)Cr* ag) 5o (ag) S0 ag)

Options :

2128072285. 1

2128072286. 2

2128072287.3

2128072288. 4

Question Number : 3 Question Id : 212807573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Ammonia is manufactured by :

N,(g)+3Ha(g) f 2NHs(g) AH} = —46.1k]/mol '

The various steps involved are :

(A) Condensation of mixture of gases

(B) Passing the gaseous mixture over catalyst
(C) Compression of the mixture of gases

(D) Recirculation of the gaseous mixture
Choose the correct answer from the options given below :
(1) (©), (B), (A), (D)

(2)  (B) (©). (D), (A)

(3 (&) D) ©) B)

(4)  (B) (&) D) (O

Options:

2128072289. 1

2128072290. 2

2128072291. 3

2128072292. 4

Question Number : 3 Question Id : 212807573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



STHIFAT 2T IS 2Tl ©
N,(g)+3H,(g) = 2NH,(g) AH} = —46.1k]/mol ™

ECRE R o fafim =o€ -

(A) 191 & Tago1 %1 HoA

(B) A& & TR T4y fagor + yarfed #m
(C) 9l & fagu 1 Hdred

(D) i g0 &1 ;TR0

== feu e fashedi H§ 9 WE U F1 T HifoT ;
(1) (©), (B), (A), (D)

(2)  (B), (), (D), (A)

(3) (A), (D), (O), (B)

(4) (B), (A), (D), (O

Options :

2128072289. 1

2128072290. 2

2128072291. 3
2128072292. 4

Question Number : 4 Question Id : 212807574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1



Match List - I with List - IL

List - 1 List - II
Ky values/K bar Gas
(A) 145 O CO,
(B) 89 (I) He
() 765 (II) N, (at 293 K)
(D) 1.67 (IV) N, (at 303 K)

Choose the correct answer from the options given below :
(1) (A, B)-IV), ©)-(1), (D)-(0)

(2) (AL, (B)-(I), (O)-(1), (D)-(IV)
(3) (A, (B)-(I), (O)-(1V), (D)-D)
(4) (A0, (B)-(), (O-(11), (D}-(IV)

Options:

2128072293. 1
2128072294. 2
2128072295.3
2128072296. 4

Question Number : 4 Question Id : 212807574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



ell-1 & Gei-11 1 foerm i
1:@"}.1 =11

Ky WM/K bar plE:
(A) 145 O CO,
(B) 89 () He
(C) 76.5 () N, (293 K T
(D) 1.67 (IV) N, (303 K ®)

= fou wu fasredi H 9 TE& IUT 1 99 Hifl :

(1) (A)-ID), (B)-(IV), (©)-(II), (D)-(T)
(2)  (A)-D), (B)-(I), (O)~(II), (D)-(IV)
(3)  (A)-(ID), (B)-(L), (CO)-(IV), (D)-(I)
(4)  (A)-D), (B)-(1I), (C)-(1), (D)-(1V)
Options:

2128072293. 1
2128072294. 2
2128072295. 3
2128072296. 4

Question Number : 5 Question Id : 212807575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

The correct IUPAC name of CH; —CH- CI—I2 —Br 1s:
I

(1) 1-Bromo-2-methylbutane

(2) 1-Bromo-2-ethylpropane

(3)

(

3) 1-Bromo-2-ethyl-2-methyl ethane
4) 2-Methyl-1-bromobutane

Options :



2128072297.1
2128072298. 2
2128072299. 3
2128072300. 4

Question Number : 5 Question Id : 212807575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1
CHy —~ CH — CH, ~Br # H&l TUPAC 79 % :
CoH:
(1) 1-sH-2-HigeegeA
(2) 1-sHR2-Tfore Yge
(3)  1-SIHI-2-T¥a-2-Higa A
(4) 2-Hfd-1-sH A

Options :

2128072297.1
2128072298. 2
2128072299. 3

2128072300. 4

Question Number : 6 Question Id : 212807576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



The quantity of charge required to obtain 2 mol of Mn?* from MnO; iS :

(1) 2F
(2) 10F
(3) 5F
(4) 1F
Options :

2128072301. 1
2128072302. 2
2128072303. 3
2128072304. 4

Question Number : 6 Question Id : 212807576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Mno; T Mn2t & 2 9 W FA & foTU 3mewae STEY F A ©

(1) 2F
(2) 10F
(3) 5F
(4) 1F
Options:

2128072301.1
2128072302. 2
2128072303. 3
2128072304. 4

Question Number : 7 Question Id : 212807577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Which of the following reaction will not produce ketones ?
(1) Hydration of alkynes

(2) Ozonolysis of substituted alkenes

(3) Treating nitrite with a Grignard reagent

(4) Stephen’s reaction

Options :

2128072305. 1

2128072306. 2

2128072307. 3

2128072308. 4

Question Number : 7 Question Id : 212807577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

frfafea Temfe sl § HiE wier 3o T8l Hidl &7
(1) TUehiEd 1 Serdrs

(2) fcEnfud UeehiAl ol TSI

(3) FrmrRE st o 1y AEEe Hi fha

(4) TR siffwan

Options:

2128072305. 1
2128072306. 2
2128072307. 3
2128072308. 4

Question Number : 8 Question Id : 212807578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Basic hydrolysis of esters produces :
(1) Carboxylates

(2) Carboxylic acids

(3) Aldehydes

(4) Ketones

Options :

2128072309. 1

2128072310. 2

2128072311. 3

2128072312. 4

Question Number : 8 Question Id : 212807578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

UL 1 HH S 37T Scdsl hidl &
(1) =hEiRIE
(2) HEIRfAR 3TFA
(3) TUfeeere
(4) M
Options:
2128072309. 1
2128072310. 2
2128072311. 3
2128072312. 4

Question Number : 9 Question Id : 212807579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Chemical formula of !aughing gas 185

(1) NO
(2) NO
(3) N0,
(4) N0,
Options:

2128072313.1
2128072314. 2
2128072315. 3
2128072316. 4

Question Number : 9 Question Id : 212807579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

AT I (B9 T19) 1 THrEfes 93 2
(1) NO
(2) N,O
(3)  NyOj
(4) N,O,
Options:
2128072313.1
2128072314. 2
2128072315. 3
2128072316. 4

Question Number : 10 Question Id : 212807580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



In amines, the nitrogen atom is A and B hybridised, making geometry of amines as C. Then A, B
and C respectively are:

(1) trivalent, sp®, trigonal

2) tetravalent, spB, tetrahedral

)
) trivalent, sp?, pyramidal
)

a2

(
(
4

tetravalent, sp?, pyramidal
Options :

2128072317. 1
2128072318. 2
2128072319. 3

2128072320. 4

Question Number : 10 Question Id : 212807580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

TR §, T2 A OO € &R B e ¢, 3 T o S T C o g1 A, BARC AW :
(1) Fret, sp?, Frmia

Q) T, s, R

() T, sp’, et

() g, p?, et

Options:

2128072317. 1

2128072318. 2

2128072319. 3

2128072320. 4

Question Number : 11 Question Id : 212807581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

The minimum concentration of an electrolyte in millimoles per Litre which 15 required to cause the
precipitation of a sol in two hours is called as

(1) Coagulating value
2)  Gold number
3

4)  Flocculation

(3)  Congorobin number
Options:
2128072321. 1
2128072322.2
2128072323. 3

2128072324. 4

Question Number : 11 Question Id : 212807581 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Frh g v 9 e T A T S A 94 e 90
S ¢, e ¢

Options:

2128072321.1
2128072322.2
2128072323. 3

2128072324. 4

Question Number : 12 Question Id : 212807582 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Which alloy is used for making bullets and lighter flints ?
(1) Shell metal

(2) Misch metal

(3) Gun metal

(4) Monel metal

Options:

2128072325. 1

2128072326. 2

2128072327. 3

2128072328. 4

Question Number : 12 Question Id : 212807582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

e 3iR g o FehTh ek o H o faerg o v fen S &7
(1) e g

(2) T e

(3) M 9 (T Hed)
(4) WA oy
Options:

2128072325. 1
2128072326. 2
2128072327. 3

2128072328. 4

Question Number : 13 Question Id : 212807583 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Acetaldehyde and benzaldehyde can be best distinguished by :
(1) 2,4 DNP test

(2) Tollens’ test

(3) Sodium bicarbonate test

(4) Fehling's test

Options:

2128072329. 1

2128072330. 2

2128072331.3

2128072332. 4

Question Number : 13 Question Id : 212807583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

tfeeee o Afwafeass o1 sRadH i ¥ faufed ffan 1 gaa §
(1) 24-DNP ql&u grI

(2) el e gm

(3) wifeaH a1 FnEe gr

(4) efe gdiem g
Options :

2128072329.1
2128072330. 2
2128072331. 3

2128072332. 4

Question Number : 14 Question Id : 212807584 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Aspartame is most successful artificial sweetener but is only limited to cold food and cold drinks
because :

(1) The control of sweetness of food is difficult

(2) Too many calories are released at high temperature
(3) Releases acetic acid when not in cold medium

(4)  Unstable at cooking temperature

Options :

2128072333. 1

2128072334.2

2128072335. 3

2128072336. 4

Question Number : 14 Question Id : 212807584 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

S o e 2 A 3 e o e
GRS

(1) T gl o e o o e €

(2) e ATV R g o () T 4

(3) 7 Wi A 2 e v o

(4) G T e

Options:

2128072333. 1
2128072334, 2
2128072335. 3

2128072336. 4



Question Number : 15 Question Id : 212807585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

In the cyanide extraction process of silver the oxidising and reducing agents used are :
(1) O, and CO respectively

(2) O, and Zn dust respectively

(3) H,0and Zn dust respectively

(4) H,Oand NaCN respectively

Options:

2128072337. 1

2128072338. 2

2128072339. 3

2128072340. 4

Question Number : 15 Question Id : 212807585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

e () o TrEe Fomeon 9o H et & ATt Sferieneh 31 STue ¢ -
(1) W% O, 3R CO

(2) #HE: O, 3 Zn

(3) 9 H,0 8 Zn

(4) A HO SMNaCN

Options :

2128072337. 1

2128072338. 2

2128072339. 3
2128072340. 4



Question Number : 16 Question Id : 212807586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

The appropriate reagent for the following conversion is :

—>
Cl
(1) SO,(l,
(2) N-Chlorosuccinamide
(3) Cl,/FeCl,
(4) SOCI,
Options :

2128072341.1
2128072342. 2
2128072343. 3
2128072344. 4

Question Number : 16 Question Id : 212807586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1



frefafaa saiao § soge sifisds

-

(1) SO,Cl,
(2) N-FARHHRIHES
(3) Cl,/FeCl,
(4) SOCI,
Options :

2128072341.1
2128072342. 2
2128072343. 3
2128072344. 4

Question Number : 17 Question Id : 212807587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Identify ‘X along with oxidation state of halogen in the given reaction :
3Cl, +6NaOH — 5Na(Cl+X+3H,0

(hot and conc.)

aCly), , e
(1) NaClO, 3
(2) NaClO;, +5

a ; +
(3) NaClO, 7

a y +
(4) NaClO, 1
Options:

2128072345. 1
2128072346. 2

2128072347. 3



2128072348. 4

Question Number : 17 Question Id : 212807587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

fretfafaa stfafsran | /X' 1 SHhT SR H&A1 & 9 TR
3Cl, + 6NaOH — 5NaCl + X +3H,0

(T T )

1) NaClO,, +3
(1) )

(2) NaClO;y, +5
3) NaClO,, +7
(3) 2

(4) NaClO,, 1
Options:

2128072345. 1
2128072346. 2
2128072347. 3

2128072348. 4

Question Number : 18 Question Id : 212807588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Match List - I with List - IL
List -1 List - 11

(A) Electrolytic reduction () Iron

(B) Bessemerization (II) Zinc

(C) Smelting (IIT) Aluminium
(D) Reduction from oxide (IV) Copper

Choose the correct answer from the options given below :
(1) (A1), (B)-(), (O-(1), (D}-(IV)

(2)  (AI), (B)-(I), (O)-(IV), (D)-(O)
(3) (AL, (B)-(1V), (O)-(1), (D)-(I)
(4)  (A)-IV), (B)-(II), (C)-(III), (D)-(T)
Options:

2128072349.1
2128072350. 2
2128072351. 3

2128072352. 4

Question Number : 18 Question Id : 212807588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



ell-1 & GeAl-11 A1 e i

M | =11
(A) SET-ATESA AT () A=
(B)  SEHLHI ) fsi=w
(C) Wi (1) gfHfIH
(D) SATHFEE § =99 (IV) R

< feu U fasredl § 9 |El 39K 1 994 hifeu

(1) (A)-(1D), (B)-(I), (O)-(1I), (D)-(1V)
(2)  (A)-(10), (B)-(ID), (O)-(IV), (D)-(I)
(3)  (A)-(I1D), (B)-(IV), (O)-(I), (D)-(I)
(4)  (A)-(IV), (B)-(IT), (C)-(IIT), (D)-(I)
Options:

2128072349.1
2128072350. 2
2128072351. 3
2128072352. 4

Question Number : 19 Question Id : 212807589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

The half-life of a first order reaction is 25 minutes. Its rate constant is :
(1) 2.27%1072 min~?

(2) 3.2x107° min~!

(3) 9.2x107* min"!

(4) 28x1072 min~!

Options:

2128072353. 1

2128072354, 2

2128072355. 3



2128072356. 4

Question Number : 19 Question Id : 212807589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Jom hife vl i ey 25 e €1 39 sifufean &1 d-feris §
(1) 227x10~2 fgqe—!

(2) 3.2x1073 fgqe—!

(3) 9.2x1072 fgfe—!

(4) 28x10-2 fAfe-1

Options :

2128072353. 1

2128072354. 2

2128072355. 3
2128072356. 4

Question Number : 20 Question Id : 212807590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

The oxoacid of sulphur which has a lone pair of electron on sulphur atom is :
(1) H,S0,

(2) H,S50,
(3) Hy5,0,
(4) HS.0,
Options:
2128072357. 1
2128072358. 2

2128072359. 3



2128072360. 4

Question Number : 20 Question Id : 212807590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

TR 1 T S vt T et T W e o U] 3 B SR §
(1) Hy0,

(2) Hy0;
(3) H0g
(4)  Hy50;
Options:
2128072357.1
2128072358. 2

2128072359. 3

2128072360. 4

Question Number : 21 Question Id : 212807591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

A drop of solution (Volume 005 mL) contains 3.0 X 10® mole of H fons. If the rate constant of
disappearance of H is 1.0x 107 mol litre =" sec™", how long will take H* ions to disappear !
) 6x1078 s

) 6x10- 95

3) 6x107s

)

4 6x10 10

1
2
(
(
Options:
2128072361. 1
2128072362. 2

2128072363. 3



2128072364. 4

Question Number : 21 Question Id : 212807591 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

foeh e o % % (A 0,05 o) 0 ¥ 0 3.0 10 il 9ea &1 976 HY 1
o e 101077 A 4718, 6 HE S an & fow foen v ton )

) 6x1078%,
) 6x107°H,
)

)

Options:

2128072361. 1
2128072362. 2
2128072363. 3

2128072364. 4

Question Number : 22 Question Id : 212807592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

The vapour pressure curve of the mixture of ethanol and acetone is higher than its constituents
because

(1)  Weaking of interactions between molecules takes place
(2) Strengthening of interactions between molecules takes place
(3)  New hydrogen bonds are formed

(4)  Molecules are not able to escape from the solution
Options :

2128072365. 1



2128072366. 2
2128072367. 3

2128072368. 4

Question Number : 22 Question Id : 212807592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

TSRt SR TERR % g 1 9T <6 Sk Ik S § 3 2§ Hi ;
(1) @il % me1 g =i fomen 2t &

(2) et o A Yaet ST TR el ®

(3) U WG 3T o &

(4) o oo frem w0 4 o 3 §

Options :

2128072365. 1
2128072366. 2
2128072367. 3

2128072368. 4

Question Number : 23 Question Id : 212807593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Which of the following is not an expression of Dalton’s law of partial pressures ?
(1) P=P;+P,

2128072369. 1



2128072370. 2
2128072371. 3

2128072372. 4

Question Number : 23 Question Id : 212807593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

frafafaa § #F Sfees & i g oy &1 =Isis 718t © 2

(1) P=P;+P,
() P=P x
(3) P=Py" +(F -P)x
(4) Py=P—PF,
Options:

2128072369. 1
2128072370. 2
2128072371. 3

2128072372. 4

Question Number : 24 Question Id : 212807594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

A compound forms hexagonal closed packed structure. What is the number of tetrahedral voids in
08 mol of it ?

(1) 15055%10%
() 24088107
(3) 9.635%10%
) 3.011x10%

Options:

2128072373. 1



2128072374. 2
2128072375. 3

2128072376. 4

Question Number : 24 Question Id : 212807594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

e, i Ve e ST S o €19 S % 08 W 8 e i 3 e
7

(1) 15055x107

(2) 24088x10%
(3) 9.635x10%
(4) 3011x10%
Options:
2128072373.1
2128072374. 2

2128072375. 3

2128072376. 4

Question Number : 25 Question Id : 212807595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Which of the following electrolytes will have maximum coagulating value for Agl/Ag™ sol ?
(1) NayS

(2) NayPO,
(3) NaSO,
(4) Nadl
Options :

2128072377.1



2128072378. 2
2128072379. 3

2128072380. 4

Question Number : 25 Question Id : 212807595 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

freafei g srvergal o AT o1 et 719 Agl/ Ag™ Wit o fort afe 21m 7
1) NaS

() NaPO,
(3) NaSo,
(4) NaCl
Options:
2128072377. 1
2128072378. 2
2128072379. 3

2128072380. 4

Question Number : 26 Question Id : 212807596 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Analkyl halide with molecular formula C;Hy,Br on dehydrohalogenation give two isomeric alkenes
Xand Y with formula C:H;, On reductive ozonolysis X and Y gave four compounds CH,CHO,

(31-13—%-(}13 , (CH,), CHCHO, HCHO. The alkyl halide is :
0

) 3-Bromopentane

) 2-Bromo-3-methylbutane

) 2-Bromo-2-methylbutane

) 1-Bromo-2-2-dimethyl propane



Options:

2128072381. 1
2128072382. 2
2128072383.3
2128072384. 4

Question Number : 26 Question Id : 212807596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

T, U eeT5 e e 41 C.H, Br 8, femglectontinny & W Ut & CH, P &

R X R Y G 51 X AR Y 0 Faert SR 6 W 7 CH,CHO, CH, - C~CH, , (CHy),
|

0
CHCHO it HCHO % e a7 21 Wt ¥t 2

Options:

2128072381.1
2128072382. 2
2128072383.3
2128072384. 4

Question Number : 27 Question Id : 212807597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Glucose does not react with :
(I) Conc. HNO.

(2) Acetic Anhydride
(3) Hydroxylamine
(4) Sodium bisulphite
Options :

2128072385. 1

2128072386. 2

2128072387. 3

2128072388. 4

Question Number : 27 Question Id : 212807597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Tofentst foRereR er sifafshan @ o -
(1) 9r HNO; & |19

(2) uHifeH TTREgRES % Wiy

(3) TSI THH o |1

(4) Hifead a8 TehEe & 9y

Options:

2128072385. 1
2128072386. 2
2128072387. 3
2128072388. 4

Question Number : 28 Question Id : 212807598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Which of the following statements is not correct ?

(1) Laisan element of transition series rather than Lanthanoid series

(2) La(OH), is less basic than Lu(OH),

(3) In Lanthanoid series, ionic radius of Ln®* ion decreases

(4)  Atomic radii of Zr and Hf are same because of Lanthanoid contraction

Options :

2128072389. 1
2128072390. 2
2128072391.3
2128072392. 4

Question Number : 28 Question Id : 212807598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

freAfefaa § -9 HuF Tel T €7

(1) Lo SsHHU U7 1 T € 7 fof oFaTE 4fl o

(2) La(OH),, Lu(OH), I Jor H %4 &R

(3) TS SOt , Ln?t TP i TR e el §

(4) TFERITS e o HRO Zr AR Hf F1 ] B GoH e 8

Options:

2128072389. 1
2128072390. 2
2128072391. 3
2128072392. 4

Question Number : 29 Question Id : 212807599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Positive carbylamine test is shown by :
(1) N-Methylaniline

(2) N,N-Dimethlaniline

(3) Triethylamine

(4) p-Methylbenzylamine

Options :

2128072393. 1

2128072394 2

2128072395. 3

2128072396. 4

Question Number : 29 Question Id : 212807599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
(1) N-Hf¥e ufet
(2) N, N-SEHf¥aA e
(3) FRUUATHA
(4) p-Hfoe afsia THE

Options:

2128072393. 1
2128072394. 2
2128072395. 3
2128072396. 4

Question Number : 30 Question Id : 212807600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Which of the following statement is correct about catalyst ?

(I) Catalyst is required in large quantities to catalyse reactions,

(2) Same reactants may give different product by using different catalysts.

(3) Catalytic activity of catalyst does not depend upon the strength of chemisorption.
(4) A catalyst does not remains the same before and after the reaction

Options :

2128072397. 1

2128072398. 2

2128072399. 3

2128072400. 4

Question Number : 30 Question Id : 212807600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

freifofed Femi § -1 %9 33 ¥ fou w8 87

(1)
2)
(3) IO I S & T i Yo R R T
() o e 3 TRl ol afufr & A & o T e

Options:

2128072397. 1
2128072398. 2
2128072399. 3
2128072400. 4

Question Number : 31 Question Id : 212807601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



The hormone which control the processes of burning of fats, proteins and carbohydrates, with
liberation of energy in the body is -

(1) thyroxine
2) insulin

) adrenaline
] estradiol

=]

(
(
4
Options :

2128072401.1
2128072402. 2
2128072403. 3
2128072404. 4

Question Number : 31 Question Id : 212807601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

A, S S o, T ol e o v & F o e et R e

(1) o
2) e
() e
() TR
Options:

2128072401.1
2128072402. 2
2128072403. 3
2128072404. 4

Question Number : 32 Question Id : 212807602 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

C4H,0 does not form asilver mirror with Tollen's reagent but forms an oxime with hydroxylamine,
It can give positive ;

(1) Todoform test
(2) [Fehling’s test
(3) Schiff's test

(4) Carbylamine test
Options:
2128072405. 1
2128072406. 2
2128072407. 3

2128072408. 4

Question Number : 32 Question Id : 212807602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

C,H,0 et fverie & W iet-alo ) o if gEgiavcrti o o oM 97 €1
e T ¢ A €

Options:

2128072405. 1
2128072406. 2
2128072407. 3

2128072408. 4

Question Number : 33 Question Id : 212807603 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Arrange the following amines in the order of decreasing basic character in gaseous phase :
(A) NH,

B (CHN

(€) (CH,),NH

(D) CH,yNH,

Choose the correct answer from the options given below

(1) (CHy),NH, CH,NH,, (CH;};N, NH,

(2) (CHypN, (CH,),NH, CHyNH, , NH,

(3)  (CH,),NH, (CH,),N, CH,NH,, NH,

(4) (CHyLN, CHyNH,, (CHy),NH, NH,

Options :

2128072409. 1

2128072410. 2

2128072411. 3

2128072412. 4

Question Number : 33 Question Id : 212807603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



et TH i 3 e T Yow 5 ST & §ed Y ¥ afed Hif
(A) NH,

(B) (CH)N

(€) (CH,),NH

(D) CH,NH,

e e v faeredl # § WRY ST 1 T Fif
(1) (CH,),NH, CH,NH,, (CH,),N, NH,

(2) (CH,),N, (CHy),NH, CH,NH,, NH,

(3) (CH,),NH, (CH,),N, CH;NH,, NH,

(4) (CH,),N, CH;NH,, (CH,),NH, NH,
Options :

21280724009. 1

2128072410. 2

2128072411.3

2128072412. 4

Question Number : 34 Question Id : 212807604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Which of the following is not correct about the order of a reaction ?

(1) The order of a reaction is the sum of the powers of molar concentration of the reactants in
the rate law expression.

(2) The order of reaction is always equal to the sum of the stoichiometric coefficient of reactants
in the balanced chemical equation of a reaction.

(3)  The order of a reaction can be a fractional number,
(4)  Order of a reaction is experimentally determined quantity.

Options:
2128072413. 1
2128072414. 2

2128072415. 3



2128072416. 4

Question Number : 34 Question Id : 212807604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

fefeian - 7 v 1 ife & fov 6 74 27

(1) & rm v i o) e ot e 1 s o o T % A 6 v A

0) Tl s T e ot 4 e W o o) R T
0 6 SR 20 €|

() dfvfn i 2 e @ e €

(4) e ) 2 T 9 8 90 A AW

Options:

2128072413.1
2128072414. 2
2128072415. 3

2128072416. 4

Question Number : 35 Question Id : 212807605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



D(+) Glucose reacts with hydroxylamine and forms oxime. The structure of oxime would be :
(1) ?H=N—OH
H-C-0H
HO—&—H
HO—&—H
H—é—OH
éHﬂDH

2) CH=N-OH
HO-C-H
HO-C-H

H—%—OH
H-C-OH
(|ZH20H

(3) ?H=N—OH
HO-C-H
H~é~OH
HO—%-H
H—?—OH
CH,0H
(4) ?H=N—OH
H-C-OH
HO—#—H
H—?—OH
H—?—OH
CH,OH
Options :
2128072417.1
2128072418. 2
2128072419.3

2128072420. 4



Question Number : 35 Question Id : 212807605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
D(+) T SRR UHIA o |e foran ek siferr s € | Sfferas sht e gt
(1) lCH:N—OH
H-C~-0H
HO—(lf—H
HO-(IZ-H
H~(:3—OH
CH,0H

2) CH=N-OH
HO-C-H
HO-C—H

H—é—OH
H-C-OH
CH,OH

o) CH=N-OH
HO-C-H
H—¢~OH
HO-C-H
H-C-OH
&@OH

(4) (IZHzN—OI-I
H=C=0H
HO—é—H
H—(IZ—OH
H—(:Z-OH
CH,0H
Options :

2128072417.1



2128072418. 2
2128072419. 3

2128072420. 4

Question Number : 36 Question Id : 212807606 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

The cell reaction occurring at anode in the electrolysis of aqueous NaCl solution is :

- 1 §
(1) H'eg)+e = JHhg) By = 000V

) 1 L
@) g = Cylg)t e B = 136V

(3) Na'(ag)+ e > Na(s) Eyy == 271V

(4) 2H,0() > Oyfg)+4H' (aq) + 4™, By =- 13V
Options :

2128072421.1

2128072422. 2

2128072423. 3

2128072424. 4

Question Number : 36 Question Id : 212807606 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



STt NaCl & Faeres 3 foe e  wire 0 8 arch i e
(1) I—I+(aq) +e - %Hz(g), E;CU =000V

Q

y 1 )
2) O (aq) — qu(g)+ e, E 4 =13V

a

(3) Na'(ag)+ e” = Na(s),E,y == 271V

r Die

(4) 2H,0() - O,(g)+4H'(aq) + ¢, E 4 = - 123V
Options :

2128072421.1

2128072422. 2

2128072423. 3

2128072424. 4

Question Number : 37 Question Id : 212807607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

In Freundlich adsorption isotherm, the value of 1.
n

1

(1) 1 in case of chemisorption
(2) 1 in case of physisorption
(3)

(

3) Dbetween 0 and 1 in all cases
4) Dbetween 2 and 4 in all cases
Options :
2128072425. 1
2128072426. 2
2128072427. 3
2128072428. 4



Question Number : 37 Question Id : 212807607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
wiaefas s T aw § L wam R
n

(1) TEELNTo o HeH H 1

(2) siifaer sifusiroor o HeY H 1
3) Wk & Gef H 0 3R 1% g
(4) YI® o Ged H 2 3R 4% 7

Options:

2128072425. 1
2128072426. 2
2128072427. 3
2128072428. 4

Question Number : 38 Question Id : 212807608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Amongst the following, identify the condensation polymer/s :
A) Bakelite

(
(B) Teflon

(C) Melamine formaldehyde resin

(D) Nylon-2 nylon-6

(E) Buna-5

Choose the correct answer from the options given below :
(1) (B) and (E) only

(2) (A), (©) and (D) only

(3) (C) and (D) only

(4) (A), (B) and (E) only

Options :

2128072429. 1

2128072430. 2

2128072431.3

2128072432. 4

Question Number : 38 Question Id : 212807608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



g feu v fasreqi ° 9 W& 39T 1 9397 FifI
(1) hdd (B) ¥R (E)

(2) e (A), (C) 3R (D)
(3) ad (C) 3R (D)
(4) F (A), (B) ¥R (E)
Options :

2128072429.1
2128072430. 2
2128072431. 3

2128072432. 4

Question Number : 39 Question Id : 212807609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Match List - I with List - IL

List - I List - II
(A) Fuel Cell ()  Rechargeable
(B) Mercury Cell (I) Reaction at anode, Zn = Zn®* +2e~
(C) Lechlanche Cell (III) Cell reaction 2H,+0, = 2H,0
(D) Ni-Cd Cell (IV) Gives steady potential

Choose the correct answer from the options given below :
(1) (A0, B-IV), (OAI), (DHI)

() (A1), B)-1), ©-V), (D))

(3) (A, B-IV), (C-0D), D)0

(4)  (A)-LV), B)-(), ({11, (D)-{IL)

Options:

2128072433. 1

2128072434. 2

2128072435. 3

2128072436. 4

Question Number : 39 Question Id : 212807609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Gelt-1 § Ge-11 1 e i
geft-1 gei-11

(A) 39 T O &S s

(B) (I ¥ () THE R AR, Zn — Zn2* +2e"
(OIESINEE () §et sHfwfsan 20, + 0, — 2H,0
(D) Ni-Cd ¥ (IV) feer o <o &

el Teu T fohedl H ¥ TRl I H F97 HIC :

(D) (A0, B}(IV), (CO-I), (D}-(I)

(2) (A0, (B)-1), (OALV), (D)-(IT)

(3) (A, (B)-(IV), (C)-(), (D)-()

(4)  (AHIV), (B)(D), (I, (D))

Options :

2128072433.1
2128072434. 2
2128072435. 3
2128072436. 4

Question Number : 40 Question Id : 212807610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1



Which of the following defects are shown by KCl Crystal ?
(A) Schottky defect

(B) Frenkel defect

(C) Metal excess defect

(D) Metal deficiency defect

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (A)and (C) only

(3)  (B) and (C) only

(4) (B) and (D) only

Options:

2128072437. 1

2128072438. 2

2128072439. 3

2128072440. 4

Question Number : 40 Question Id : 212807610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



frafafaa § sA-41 S KCl e grn yefiia foman s 72

(A) St 99

(B) ket S

(C) o7 o STfer =1 Qi

(D) g =T <

= fou U faedi 4 9 9E UL 1 9397 Fifau ;

(1) ad (A) 3R (B)
(2) hEd (A) 3 (C)
(3) e (B) ¥R (C)
(4) %dd (B) 3R (D)
Options :
2128072437. 1
2128072438. 2

2128072439. 3

2128072440. 4

Sub-Section Number : 2
Sub-Section Id : 21280719
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 41 Question Id : 212807611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Answer the question on basis of passage given below :

Transition metals form a large number of complexes or coordination compounds in which the
metal atoms are bound to a number of anions or neutral molecules. The valence bond theory
explain the formation, magnetic behaviour and geometrical shapes while the crystal field theory
explains the effect of different crystal fields on the degeneracy of d-orbitals energies of the central
metal atom,/fon, This provides for the quantitative estimation of orbital separation energies, magnetic
moments and spectral and stability parameters.

Two complexes of nickel have same geometry but different magnetic behaviour are :

) NP
B DNCo)

(€ [NiCl}-

D) (NN
Choose the correct answer from the options given below :
(1) (A)and (B) only
(2) (B)and (D) only
(3) (B)and (C) only
(4) (A)and (D) only
Options:
2128072441. 1
2128072442. 2
2128072443. 3
2128072444. 4

Question Number : 41 Question Id : 212807611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




wiet e T TS o MU T YO e SR S

Y T e ) e A gl 1 g e 2 fae o €, o o 5 e e
71 S A 6 9 T A ¢ | W e gl 56 P, e SR o A
o A 1 ¢ | Sl e 4 o e e )P 1 €1-ahe 3t 9 oo e
7 5 T R Y0 4 A S % g T 3, T S ] g O
T VGO 7 e S 4 €1
fraet <1 Sl 1 <A 9 & cif et fo g
(4) [Ni(CN),F-
B) NiCO)
€ MNicE
(D) [NifNHy)
A9 ot T ol g0 3 1 9 I
() (4) 3 )
() & () F D)
() % (B) R ()
(4  (4) (D)
Options :
2128072441.1
2128072442. 2

2128072443. 3

2128072444. 4

Question Number : 42 Question Id : 212807612 Question Type : MCQ Option Shuffling : No Is
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Answer the question on basis of passage given below :

Transition metals form a large number of complexes or coordination compounds in which the
metal atoms are bound to a number of anions or neutral molecules. The valence bond theory
explain the formation, magnetic behaviour and geometrical shapes while the crystal field theory
explains the effect of different crystal fields on the degeneracy of d-orbitals energies of the central
metal atom,/fon. This provides for the quantitative estimation of orbital separation energies, magnetic
moments and spectral and stability parameters.

Which of the following complexes are not correctly matched with hybridisation of their central
metal ion ?

) NEOS - 9
Q) [CoFf - g
B [CuNH)Pt - dy?
@ MuCLP - dp?
Options:

2128072445. 1
2128072446. 2
2128072447. 3

2128072448. 4
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Answer the question on basis of passage given below :

Transition metals form a large number of complexes or coordination compounds in which the
metal atoms are bound to a number of anions or neutral molecules. The valence bond theory
explain the formation, magnetic behaviour and geometrical shapes while the crystal field theory
explains the effect of different crystal fields on the degeneracy of d-orbitals energes of the central
metal atom/ion. This provides for the quantitative estimation of orbital separation energies, magnetic
moments and spectral and stability parameters,

Amongst the following ions which should have the highest magnetic moment value ?
1) Ny

2) [Ma(CN)*

(3) [CulNH )

4 [CoFg)-

Options:

2128072449. 1

2128072450. 2

2128072451.3

2128072452. 4
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Q) [Ma(CN)g*
(8) [Ce(NHy)P*
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2128072449. 1
2128072450. 2
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Answer the question on basis of passage given below :

Transition metals form a large number of complexes or coordination compounds in which the
metal atoms are bound to a number of anions or neutral molecules. The valence bond theory
explain the formation, magnetic behaviour and geometrical shapes while the crystal field theory
explains the effect of different crystal fields on the degeneracy of d-orbitals energes of the central
metal atom/fon. This provides for the quantitative estimation of orbital separation energies, magnetic
moments and spectral and stability parameters,

The compound [Pt{NH,),Cl,| exhibits
(1) Geometrical isomerism

(2) Linkage isomerism

(3) Ilonisation isomerism

)

4)  Coordination isomerism

Options:

2128072453. 1
2128072454, 2
2128072455. 3
2128072456. 4
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2128072453. 1
2128072454, 2
2128072455. 3
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Answer the question on basis of passage given below :

Transition metals form a large number of complexes or coordination compounds in which the
metal atoms are bound to a number of anions or neutral molecules. The valence bond theory
explain the formation, magnetic behaviour and geometrical shapes while the crystal field theory
explains the effect of different crystal fields on the degeneracy of d-orbitals energies of the central
metal atom/fon. This provides for the quantitative estimation of orbital separation energies, magnetic
moments and spectral and stability parameters.

Match List - I (Species/ions) with List - I (Colours)

List -1 List - 11
(A) Mn2* 0 Yellow
(B) Fe** M) Green
(€ Nt () Blue
(D) Cult (V) Pink
Choose the correct answer from the options given below :
(1) (A-{ID), (B)-{IL), ©-(0) (D-IV)
(2) (A-{V), (BMD), (CHIT), (DA
(3) (AN, (B)-0), (CHIV), (DH)
(4) (AMI, (BHIV), (O-{, (DH)
Options:

2128072457.1
2128072458. 2
2128072459. 3
2128072460. 4
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(1) (AMID) (B0, (C-{D, (DHIV)

(2) (ARLV), (B, (KT, (DML)

() (AHL), (B0 (CHIV), (DMLL)

(4)  (AK{I, (B1-(1V), (-, (DA

Options :

2128072457.1
2128072458. 2
2128072459. 3
2128072460. 4
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Answer the question on basis of passage given below :

Alcohols and phenol are formed when a hydrogen atom in a hydrocarbon, aliphatic and
aromatic respectively, is replaced by -~OH group. The substitution of a hydrogen afom in a
hydrocarbon by an alkoxy or aryloxy group forms ethers,

Alcohols and phenol consist of two part, an alkyl/aryl group and a hydroxyl group. The
properties of alcohols and phenols are primarily due to the hydroxyl group. The nature of alkyl
and aryl groupssimply modify these properties. Alcohol react both as nucleophiles and electrophiles
whereas in phenols, the reactions that take place on the aromatic ring are electrophilic subtitution
reactions.

Aspirin i an acetylation product of :

(1) o-Dihydroxybenzoic acid

2) 0~ Hydroxybenzoic acid
) m=Hydrxoybenzoic acid
) p-Dihydroxybenzene

=

(
(
(4
Options:

2128072461. 1
2128072462. 2
2128072463. 3

2128072464. 4
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Answer the question on basis of passage given below :

Alcohols and phenol are formed when a hydrogen atom in a hydrocarbon, aliphatic and
aromatic respectively, is replaced by -~OH group. The substitution of a hydrogen afom in a
hydrocarbon by an alkoxy or aryloxy group forms ethers,

Alcohols and phenol consist of two part, an alkyl/aryl group and a hydroxyl group. The
properties of alcohols and phenols are primarily due to the hydroxyl group. The nature of alkyl
and aryl groupssimply modify these properties. Alcoholreact both as nucleophiles and electrophiles
whereas in phenols, the reactions that take place on the aromatic ring are electrophilic subtitution
reactions.

Name the given reaction ;

OH ONa OH
CHC+aqNaOH A0 1t AL /HO
> —_
Mk
Phenol Salicylaldehyde

(1)  Williamson's synthesis
(2) Kolbe's reaction

(3) Reimer-Tiemann reaction
(4) Sandmeyer's reaction
Options :
2128072465. 1
2128072466. 2
2128072467. 3
2128072468. 4
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Answer the question on basis of passage given below :

Alcohols and phenol are formed when a hydrogen atom in a hydrocarbon, aliphatic and
aromatic respectively, is replaced by ~OH group. The substitution of a hydrogen atom in a
hydrocarbon by an alkoxy or aryloxy group forms ethers,

Alcohols and phenol consist of two part, an alkyl/aryl group and a hydroxyl group. The
properties of alcohols and phenols are primarily due to the hydroxyl group. The nature of alkyl
and aryl groupssimply modify these properties. Alcohol react both as nucleophiles and electrophiles
whereas in phenols, the reactions that take place on the aromatic ring are electrophilic subtitution
reactions,

The [UPAC name of the following compound is :
/CHS
C—OH

\
U CH,

(1) 2-Methyl-2-phenyl ethanol

(2) 1-Methyl-1-phenyl ethanol

(3)  2-Phenylpropan-2-ol

(4) 11-Dimethyl-1-phenyl methanol
Options:

2128072469. 1

2128072470. 2

2128072471. 3

2128072472. 4
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2128072469. 1
2128072470. 2
2128072471. 3
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Answer the question on basis of passage given below :

Alcohols and phenol are formed when a hydrogen atom in a hydrocarbon, aliphatic and
aromatic respectively, is replaced by ~OH group. The substitution of a hydrogen atom in a
hydrocarbon by an alkoxy or aryloxy group forms ethers,

Alcohols and phenol consist of two part, an alkyl/aryl group and a hydroxyl group. The
properties of alcohols and phenols are primarily due to the hydroxyl group. The nature of alkyl
and aryl groupssimply modify these properties. Alcohol react both as nucleophiles and electrophiles
whereas in phenols, the reactions that take place on the aromatic ring are electrophilic subtitution
reactions,

Few compounds are given below (A to D). Arrange them in the increasing order of their boiling
poinfs,

(A) Pentan-l-ol

(B) n-Butane

(C) Pentan-l-al

(D) Ethoxyethane

Choose the correct answer from the options given below :

1) D)<B<© <)

Q) B<(C<(A)<(D)
(8) (B)<D)<(C)<(A)
(4 D)<B) <)<
Options:

2128072473.1
2128072474. 2
2128072475. 3
2128072476. 4
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3) (B)<D<(C<(a)
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Answer the question on basis of passage given below :

Alcohols and phenol are formed when a hydrogen atom in a hydrocarbon, aliphatic and
aromatic respectively, is replaced by ~OH group. The substitution of a hydrogen atom in a
hydrocarbon by an alkoxy or aryloxy group forms ethers,

Alcohols and phenol consist of two part, an alkyl/aryl group and a hydroxyl group. The
properties of alcohols and phenols are primarily due to the hydroxyl group. The nature of alkyl
and aryl groupssimply modify these properties. Alcoholreact both as nucleophiles and electrophiles
whereas in phenols, the reactions that take place on the aromatic ring are electrophilic subtitution
reactions,

In the following reaction, compounds A and C are :

— () CH;MgBr " (i) Hp0, ; Hyiiggtrlfxllm .C
T R W '
1) identical

positional isomers
3

(
0
(
4

)

)

) functional isomers
) optical isomers
Options:
2128072477. 1
2128072478. 2

2128072479. 3

2128072480. 4
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